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The operations are executed in the order t" m" SIt X" with indices in natural 
order. For DFTs oflengths 5, 7, 9, 16, the operations can also be executed using 
the form shown in Sects. 5.6.4, 5, 7, 8 which embeds the various polynomial 
products. 

The figures between parentheses indicate trivial mUltiplications by ± 1, ±j 
At the end of each of algorithm description for N = 3, 5, 7, 9, we give the num­
ber of operations for the corresponding algorithm in which the number of non­
trivial mUltiplications is minimized and the output is scaled by a constant factor. 

5.5.1 2-Point DFf 

2 multiplications (2), 2 additions 

mo = I·(xo + XI) 

5.5.2 3-Point DFf 

U = 2n/3, 3 multiplications (I), 6 additions 

tl = XI + X2 

mo = I.(xo + t l ) 

m2 = j sin U'(X2 - XI) 

SI = mo + ml 

Xo =mo 

XI = SI + m2 

X2 = SI - m2 

ml = (cos U - 1).tl 

Corresponding algorithm with scaled output: 
3 multiplications (2), 8 additions, scaling factor: 2 

5.5.3 4-Point DFf 

4 multiplications (4), 8 additions 

tl = Xo + X2 

mo = I.(t l + t2) 
m2 = 1· (xo - X2) 

Xo=mo 

XI = m2 + m3 

t2 = XI + X3 

ml = 1·(t1 - t2) 

m3 = j (X3 - x,) 

, 
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5.5.4 S-Point DIT 

u = 2n/5, 6 multiplications (1), 17 additions 

I1 = XI + X. 

Is = I1 + I" 
mo = 1· (xo + Is) 

ml = [(cos u + cos 2u)/2 - 1]/s 

m" = [(cos u - cos 2u)/2](/l - I,,) 

Polynomial product modulo (z" + 1) 

m3 = -j(sin U)(/3 + I.) 
m. = -j(sin u + sin 2u)·I. 

ms = j(sin u - sin 2u)/3 

S3 = m3 - m. 

Ss = m3 + ms 

Xo=mo 

Xl = S" + S3 

X" = S. + Ss 

X3 = S. - SS 

X. = S" - S3 

Corresponding algorithm with scaled output: 

6 multiplications (2), 21 additions, scaling factor: 4 

5.5.5 7-Point DFf 

u = 2n/7, 

I1 = Xl + X6 

9 multiplications (l), 36 additions 

I" = x" + Xs 

Is = XI - X6 

Is = I1 - 13 

111 = 17 - Is 

13 = X3 + X. 

16 = X" -Xs 

19 = 13 - t" 

t12 = t6 - 17 



ml = [(cos U + cos 2u + cos 3u)/3 - 1] I. 

113 = -la - 19 

m7, = [(2cos U - COS 2u - COS 3u)/3] la 

m3 = [(cos u - 2eos 2u + cos 3u)/3] 19 

m4 = [(cos u + cos 2u - 2cos 3u)/3] 113 
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Polynomial product 

modulo (z7, + z + 1) 

ms = -j[(sin u + sin 2u - sin 3u)/3]110 

114 = -111 - 117, 

tn6 = j[(2 sin u - sin 2u + sin 3u)/3]111 

m7 = j[sin u - 2 sin 2u - sin 3u)/3]/17. 

ma = j[(sin u + sin 2u + 2 sin 3u)/3]/14 

$7, = -m6 - m7 

Sl = m6 + ma 

Polynomial product 

modulo (Z2 - Z + 1) 

$. = mo + ml 

S7 = S4 + So - SI 

SIO = ms + S7, + S3 

Sa = ms - S2 

X4 = S7 + SIO XS = S6 - S9 X6 = Ss - Sa 

Corresponding algorithm with scaled output: 

9 multiplications (2), 43 additions, scaling factor: 6 

5.5.6 8-Point DFf 

u = 2x/8, 

11 = Xo + X4 

8 multiplications (6), 26 additions 

17, = X2 + X6 

mO = 1·(t7 + la) 

m7, = 1.(11 - 17,) 

m. = cos U.(14 - ( 6) 

Is = X3 + x7 

la = 13 + Is 

ml = 1.(17 - la) 

m3 = 1· (xo - x4) 

m, = j(I, - (3) 
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1'0 =mo 

X3 = S2 - S4 

1'6 = m2 - ms 

5.5.7 9-Point DFf 

Xl = SI + S3 

X4 = m1 

1'7 = SI - S3 

u = 21t/9, 

t1 = Xl + Xa 

t4 = X4 + Xs 

11 multiplications (1), 44 additions 

t2 = X2 + X7 

tlO = t6 + t7 + t9 

t13 = t7 - t6 

mo = 1· (xo + t 3 + t s) 
m1 = (3/2)t3 

m2 = -ts/2 

ts = t1 + t2 + t4 

ta = X3 - X6 

tu = t1 - t2 

t14 = t7 - t9 

1'2 = m2 + ms 

Xs = S2 + S4 

t6 = Xl - Xa 

t9 = X4 - Xs 

t12 = t2 - t4 

••••••••••••• , •• ' ••••• ,'.' ••• "" •• ' •• ', ••• ,' ••••• " ••• ,' •• ' ••• , •••••••••••••••••••••••••• , ••••••••••• , •••• ,, •••• , •••• ,.' ••• "0' •••••••••• , ••• ,,, ••• ,., ••• , ••••••••••• ," ••• ," ••••• ,., •••• , ••••••• , ••••• " •••••••••••• , ••••• "'. 

tu = -t12 - tll 

m3 = [(2 cos u - cos 2u - cos 4u)/3]tll 

m4 = [(cos u+ cos 2u - 2 cos 4u)/3]t12 

ms = [(cos u - 2 cos 2u + cos 4u)/3]tu 

m6 = -j sin 3u·tlO 

m7 = -j sin 3u·ta 

/16 = -/13 + t14 

ms = j sin u·t13 

m9 = j sin 4U.t14 

m10 = j sin 2U·t 16 

Polynomial product 

modulo (Z2 + Z + 1) 

Polynomial product 

modulo (Z2 - Z + I) 



S4 = mo + m2 + m2 

S6 = S4 + m2 

sa = SI + s, 

XI = S7 + SIO 

X4 = sf) + SI2 
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S7 = S, - So 

sf) = So - SI + s, 

X2 = sa - sl1 

X, = sf) - Su 

X6 = S6 - m6 X7 = sa + sl1 Xa = S7 - SIO 

Corresponding algorith with scaled output: 
11 multiplications (3), 45 additions, scaling factor: 2 

5.5.8 16-Point DFf 

u = 21t/16, 

I1 = Xo + Xa 

14 = X2 - XIO 

17 = XI + Xf) 

t lO = X3 - Xl1 

III = X 7 + Xu 

116 = 13 + Is 
11f) = 17 - 111 

122 = 118 + 120 

t2S = 110 + 112 

18 mUltiplications (8), 74 additions 

12 = X4 + XI2 

I, = X6 + XI4 

la = XI - Xf) 

111 = X, + Xll 

114 = X 7 - Xu 

117 = 11, + t l6 

120 = If) + 113 

123 = la + 114 

126 = 112 - 110 

t3 = X2 + XIO 

t6 = X6 - XI4 

tf) = X3 + XI1 

tl2 = X, - Xll 

tu = tl + t2 

tl8 = t7 + tl1 

t21 = tf) - tll 

t24 = ta - tl4 

mO = 1·(tI7 + t22) 

m2 = 1·(tu - ( 16) 

m4 = 1· (xo - xa) 

ml = 1.(/17 - ( 22) 

m3 = 1.(t l - t 2) 

m, = cos 2u·(t l f) - t21 ) 

m6 = cos 2u· (t4 - t6) 
' .... , ... ' ... " ........................ ,." ........... , ....... , ....................... , ................................................. , ................................. , ...... , ............................................ .. 

m7 = cos 3U·(t24 + t 26) 

ma = (cos u + cos 3u)·t24 

mf) = (cos 3u - cos U)·/26 

S7 = ma - m7 

mlO = j.(t20 - tla) 

mu = j.(XI2 - x4) 

, 

Polynomial product 

modulo (Z2 + 1) 

ml1 = j .(t, - t3) 

m13 = -j sin 2u·(t l f) + (21) 
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................................. 111 ................ 1111 ................. 60 ••• , ••••• '., ................................................... 11 •••••••••••••••••••••••••••• , •••••••••••••••••• , ................................... . 

ml S = -j sin 3U·(tl3 + tlS ) 

ml6 = j (sin 3u - sin u)·b 

ml7 = -j (sin u + sin 3u). t lS 

Polynomial product 

modulo(zl + 1) 
.................................................................................. " ........................................... , ........................ , ........................................ , ............................ . 
SI = m3 + ms Sl = m3 - ms S3 = mll + ml3 

S4 = ml3 - m11 Ss = m 4 + m6 S6 = m 4 - m6 

Sg = Ss + S7 SIO = Ss - S7 Sl1 = S6 + Ss 

Sll = S6 - Ss 

Sl3 = mu + ml4 SI4 = mu - ml4 SI7 = Sl3 + SIS 

S18 = S13 - SIS Slg = SI4 + SI6 Szo = SI4 - SI6 

Xo=mo XI = Sg + SI7 Xl = SI + S3 

X3 = Su - SlO X 4 = mz + mlO Xs = Sl1 + Slg 

X6 = Sl + S4 X 7 = SIO - SIB Xs=ml 

X g = SIO + SIB XIO = Sz - S4 X 11 = Sl1 - Slg 

X IZ = mz - mlO X I3 = Su + SZO X I4 = SI - S3 

XIS = Sg - SI7 


